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QUESTION 1

A customer has reviewed the latest vSphere CVD and asks you if they can use their older Cisco servers in the new
FlexPod solution and still have supported configuration. 

Which statement is true in this scenario? 

A. FlexPod configurations are fully supported if they follow the technical specifications and compatibility matrices. 

B. FlexPod configurations are fully supported if they follow a specific Cisco Validated Design. 

C. FlexPod configurations are fully supported regardless of the equipment used. 

D. FlexPod configurations are fully supported if they follow a specific NetApp Verified Architecture. 

Correct Answer: B 

Reference: https://www.cisco.com/c/dam/en/us/solutions/collateral/data-center-virtualization/flexpod/ flexpod-solution-
overview.pdf 

 

QUESTION 2

A customer wants to refresh their FlexPod solution by moving from 10 Gbps to 40 Gbps networking. They use FCoE to
boot from SAN. 

In this scenario, which statement is true? 

A. FCoE is supported for 32 Gbps adapters 

B. FCoE is supported for 25 Gbps adapters 

C. FCoE is supported for 40 Gbps adapters 

D. FCoE is supported on only 10 Gbps unified adapters 

Correct Answer: C 

 

 

QUESTION 3

You are asked to ensure link redundancy to your hosts using Virtual Port Channel (vPC). You are creating a vPC on a
pair of Cisco Nexus switches. 

In this scenario, which two steps are required to accomplish this task? (Choose two.) 

A. Set all vPC ports to switchport mode access 

B. Configure the vPC peer keep-alive link 

C. Create a vPC domain 
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D. Configure system priority 

Correct Answer: BC 

 

 

QUESTION 4

A customer wants to deploy Cisco Intersight into their FlexPod environment. The customer is using the Cisco Intersight
SaaS model. 

In this scenario, which two virtual machines are required to support this requirement? (Choose two.) 

A. Cisco UCS Fabric Interconnect 

B. NetApp Active IQ Unified Manager 

C. Cisco Intersight Virtual Appliance 

D. NetApp Virtual Storage Console 

Correct Answer: BC 

Reference: https://www.cisco.com/c/en/us/products/collateral/servers-unified-computing/ucs-x-seriesmodular-
system/flex-pod-datacenter-ucs-intersight.html 

 

QUESTION 5

Which Cisco UCS Fabric Interconnect model has multiple 100 Gbps ports available for use? 

A. Cisco UCS 6332 

B. Cisco UCS 6324 

C. Cisco UCS 6454 

D. Cisco UCS 6332-16UP 

Correct Answer: C 

Reference: https://www.cisco.com/c/dam/en/us/products/collateral/servers-unified-computing/ucs-b-seriesblade-
servers/6400-specsheet.pdf 

Latest NS0-175 Dumps NS0-175 PDF Dumps NS0-175 Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest NS0-175 Dumps | NS0-175 PDF Dumps | NS0-175 Exam Questions                                3 / 3

https://www.geekcert.com/ns0-175.html
https://www.geekcert.com/ns0-175.html
https://www.geekcert.com/ns0-175.html
http://www.tcpdf.org
https://www.geekcert.com/ns0-175.html
https://www.geekcert.com/ns0-175.html
https://www.geekcert.com/ns0-175.html

